res

(5
tlﬁgev
onstant

(¥
tcﬁgev
onstant

‘o e

TPT[TTTT[TLIT[T

[pull of @parameter

107}

1072

Ratio

Ratio

[ pull of goverp parameter
10

T
e

0.8]

£

R
-10-8 6 -4 -2 0 2 4 6 8 10

ENries
*Mean

. td Dev
: onstant
| Sk

ies
Bev
onstant

4 4

0N0TE 6 4 2 0 2 4 6 8 10

| pull of dxy parameter

107}

1072

107k

Ratio

Sal
P

3#““ -l . “, é‘o“‘ E‘A‘-‘t : t-‘
Sy Mgt Sl 5
-10 8 6 4 4 6 8 10

5y
pull of B parameter |

107}

E I:Y.WIHQS :
C\[Wean®  -0.802639
. td Dev
: onstant 7OO$
-\ Bl 4
T T

tries

%Jn st%\(n

[ pull of dz parameter

107}

Ratio




	Contents
	Page 1


